S

. 4

2

MAX l6-2" WIDE 18'-0" HIGH

HORIZONTAL TRACK £ND HANGER BRACKET

é (SUPPLIED BY DOOR INSTALLER) CLOSES
ROLLER CHANNEL, INTERMEDIATE HANGER RER'D
FOR DOORS IF HBRIZONTAL TRACK DEFLECTION
EXCEEDS 1/240TH [OF DOOR HEIGHT

NQTE: DOUBLE TRACK LOW

MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL)

HEADROOM, HI-LIFT TRACK|
FOLLOW—THE~RQOF TRACK,

AND VERTICAL UFT TRACK
ARE AVAILABLE CPTIONS.
37 TRACK ALSO AVAILABLE,

©

DONINNNNYR

//

MODELS 524, 520/ 224/ C4ST, COST

INSULATED MODELS 524S, 520S, 524V/ 2245/
C4SS, COSS, C43V

REVISIONS
REV. NO.[ ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
09 - 05/2005 - Mww UPDATED CODE REF., SPECIFIED OPTIONAL ACRLYIC.
10 - 11/2005 - - ADDED OPTIONAL NYLON TiRE ROLLER
1 - 11/2008 - - ADDED MPC, WELDED JAMB ATTACHMENT.
12 o 02/2012 - - UPDATED WINDCODE CHART
13 - 08/2012 - e REVISED FOR TDI
14 - 06/2G13 - - REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED FV DIMENSIONS,

LOADS FOR THE WIND SPEEDS LISTED BELOW

THIS DOOR MEETS OR EXCEEDS THE DESIGN

Il
Il
\GALV STEEL TRACK

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE

ACCORDING TG THE FLORIDA BLDG. CODE
GR [BC (ASCE7) FGR THE FOLLOWING

CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR

SECTIONS ARE
1-7/8" THK

ADJUSTABLE TOP ROLLER BRACKET

1, SECTIONS - WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE gASIMzP'GgiAN%ETFILAg’O%U%EI%G;JS ENDRgggE:éLOPE PANELS ROLL gg i}anuﬁrfl V?{AT%{V'@;S)TE#?;‘ éNg;gL;uEg
= TRIZONTAL - 1 6 s | O, ITERNATIONAL BULDING CODE BUT DOES NOT MEET THE PR TR, BB Yot Ly Por K i SHEET METAL SCREWS
REGIONS (REF, CHAPTER 16 FBC/iBC} gﬁ%sfﬁzﬁi E@éﬁi«l} lecr;oc 112 1 ;;G 1%0 GALVANIZING, \_R;:lell?ezrgm@lfﬂ:"um o STEEL%N
STEEL OR NYL
il GALVANIZED STEEL MEAN ROOF HEIGHT| 30’ 3o | 25| 30 ROLL ?SQ-FQEE TIRE
T TRACK SECT_'IDNS DOOR HEIGHT ‘& NUMBER [OF # p P #
VERTICAL 060 MIN SECTIONS ONE 47 16GA. C-CHANNEL PER
DHPEEII&HN?G I UP 70 86 1 p p p p DOOR SECTION, <) 1/4* X 3/4*
H i VERTICAL TRACK CAN BE 8-3" THRUY 19'-0” S 3 SELF TAPPING SCREW PER
EITHER BRACKET MOUNT 10'-3* THRU 12/-0* & - R . | , | b STILE. ¢SEE VIEW “D9
> CONTINUGUS ANGLE OR 12-3* THRU 14‘-0° 7 53" MAX 44" TYP ——f— 44" TYP —|—— 53" MAX —|
14-3* THRU 16’-0° 3 OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE .
REVERSE ANGLE TRACK. = <1/87 DSBY. FULL VISION SECTIONS TH HAVE 2° X 2* X 1/4° L-ANGLE -
J&  ALL TRACK BRACKETS AND 16°-3" THRU 18-0" 3 HORIZONTAL REINFORCEMENT, L-ANGLES ATTACHED TO THE REINFORCING
I YPICAL T| TRACK CLPS ARE 12 GA. 18-3 THRU 20'-0” 10 Rn?q VIRTH 4* X & OFFSET PLATES A4T EXVERY HINGE LOCATION AND THE
24r GALY. STEEL, BRACKETS AND - CENTER OF EACH PANEL WITH <2 1/4” X 5/8° HEX BOLTS AND NUTS. 1 o
| CTR-CTR CLIPS ARE ATTACHED TO TRACK  MAX. SECTION HEIGHT: 24 |  — 7 m— o BOUBLE E£ND lsTiR/ :PVEQ)E gEQGDgg-R G?J:‘S’fmw
T WTH ETHER TWO 1/4” RIVETS . aa 1 /' STILES S g s DdIR SECTION,
0L Bl OR ONE 1/4” BOLT. B O AL \ - 174" X 3/4" SELF TAPPING SCREWS.
- » SEE SECTION 1-1 FOR OPTIONAL INSULATION i TWO SCREWS T0 DUOR, UNE SCREW
3 e MOUNTING DETALLS. (SEE MODEL EXPLANATION) TO C~CHANNEL. '
T AR~ T TRACK T .
>TANDARD~LIF CK DETAILS #14x5/8" SHEET METAL SCREWS ' | A5 :
' A\ ‘ { o END HINGES OF MIN,
SECTION 2-2 & 5 R e ] e > 14 GA, GALY. STEEL FASTENED WITH
*, 11 ii 1| (4 £ LG- ) .
18 GA. MIN. GALV, OR PAINTED END STILE. FASTEMED = " SELF £ OPTIONAL 24 x 6° r3/4% SELE-
TO DOOR SKIN WITH TOG—L—LOC~SYSTEM. > 1 PPﬁ\? 4SCRE{?VS. [ f A DPTIONAL 24" > Srev B AND (@) 174*x3/4* SELF-TAPPING SEREVS.
. 2yl ] N~ TOGETHER FRAME TYFE =
18 GA MIN. GALV. @ DSB WINDOW LITES (il "
INTERMEDIATE STRE 14 GA. DOUBLE_END HINGES 14 GA, INTERMEDIATE HINGE T AVAILABLE. 7] = 47—
FASTENED TO DOCR ATTACH ON EACH HINGE AS SHOWN ATTACH l'f}N EACH HINGE AS SHOWN 9«9] ; o
SN WTH Too o ol FATTR MG G o Ve XVosiit win. S “
| ] - I 3/16" MIN, MAY BE BACK— ' N_ TWO POINT L w~_2_1/2"
i m— wen regg |0 P 88 .
v e 5 8”
%VGAL"' ! MAX, DOOR WIDTH: 16/t | l D /
CENTER HINGE | MAX, : { VIEW D"
FASTENED WiTH 1/8%%1" LONG ! » -
(4) #14x5/8" FLLET WED (ceonx. NUMBER OF | NUMBER OF /j 4 TALL C-CHANNEL
§5§‘E&§”AL 10 6 LOGATED: YerTicALLY DOOR WIBTH CENTER | C-CHANNEL SECTION 1 - 1 g 16 GA. GALV. STEEL
' CENTER AND TACK 12 GA. GALV. REVERSE STILES STRAPS MIN. YIELD STRENGTH 50KSI
ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF GF dED TOF OF,WNGLE AT 0R CONTINUGUS ANGLE 12~3" THRU 13'-2° 2 4
THE MAXIMUM ON-CENTER DISTANGE. HIGHEST ANCHOR INSTALLED AT LEAST AS Ny T FRSTENED. 13'-3" THRU 1&-5° 3 =
HIGH AS THE DOOR OPENING. WELDED STEEC JAVES] ) BOTTOM SECTION REINFORCED WITH
TERFIELD, P.E. BOTYOM ROLLER BRACKEY OF 13 GA.
WOOD _JAMB ON_ CONCRETE CONCRETE_JAMBS REEL. oS | WOOD_JAMBS, MARK WES : TEMPERED ALUMINUM EXTRUSION WITH
SELF-TAPPING SCREWS FLORIDA P.E. 448495 NC P.E. #23832, INTEGRAL~REMINEREGR FLEXIBLE _@ MIN. GALY. STEEL, FASTENED WITH ¢4)
2,000 PSI MIN 2,000 PSI MIN 3/16" MIN. STEEL . . TEXAS P.E. $91513 v DI RAS 414 X 5/8 LG SHT. MTL. SCREWS
CONCRETE CONCRETE JAMB ' [ B A soinky, [T DESION OF THE Wy O DA i
3/8" Dif. x 1=1/2" 1/47x1-1/2" MIN, | /473 /4" } 1-1/8" WASHER  |SUPPORTING STRUCTURAL et oy /2 &3
MIN. EMBED SLEEVE EMBED SELF—TAPPING MAY BE BACK-FILLED SELF TAPPING REQ'D. 24" MAX. ELEMENTS 1S THE RESPONSIBILITY - % MANUF ACTURTNG PRODUCT COEe:
ANCHOR, WASHER INCL'D. CONCRETE ANCHOR, WiTH CONCRETE, BUT SCREW (] 0.C. TO SECURE ~ 1OF THE BUILDING ENGINEER OR /] - DESTNALOADS: +25 & —25 P.S.F. . el
30 SeCURE x5 JAMB IplasiER REq . SELF TAPBING. SCREW 24" MAX. 0. 356, WOOD JAMS | ARCHITECT OF RECORD. FE St toass  +375 & —375 por IMPC: C—PAN-1E£44
" MAX. O.C. . o e BN = { . . S.F.
! [ TO CONCRETE).( TO ég:CURE ANGLE ;?qc?.%mige STSSET}{:RE'EEM Unlass Sﬁstea _Gihenﬁ‘%“ 2 TIAndl 3585 Dg%e&gg{l}evggﬂ :
[ , C'SINK iF_NEEDED, TO CONCRETE. s S %, B asan,
l | T 37 MIN. EDGE DISTANCE et M?N, EDGE DISTANCE STEEL JAMB. TOLEF?ANQz!%ﬁ?{?r?_,_ = a 4 Tel. No. 513-770—4800
CLOPAY CORP. {j; =..j;;;(23*[;; L Buitdiers, Projducts: Cgmipdny Fax No. 513-770—4853
gﬁefézﬁor{ﬁ%% gchgygiTaésggs BRACKET MOUNT OR chnTréuous ALL RIGHTS RESERVED. O.gg',;* :ggg.vt ’ DESCB.{P?{-?Q&’:F.CQMMERC[AL RIBBED DOOR, +/— 25 PSF DESIGN LOAD
ANGLE MOUNT TRACK FASTENED - - : TR
7O 2x6 #2 OR BETTER TG 2x6 2 OR BETIER 0000 =h " 1 TEANN _BY:RIK DATE: 4/04/99 |SCALE: NOTED |{pwG.
ONE Syt e ARGLE HOONT Ao S ANGLE MOUNT TAGH " e Sy1e - Lo : Degrees = i/2"Si0GuECRED BY: MWW |DATE: 4/99  |SHEET 1 OF 1 |SIZE
LAG SCREW PER BRACKET FASTENED DIRECTLY FASTENED DIRECTLY LAG_SCREW PER BRACKET Third Angle Unless Stated Otherwisess . frrmre==
OR TRACK CLIP LOCATION. TO CONCRETE. TO STEEL JAME. OR TRACK CLIP LOCATION. Prajection DIMENSIONS ARE N INCHES.] UWG. NO.. 101886 VER: 1BC

S

.

2






